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Paper : 6.3
Full Marks : 60
Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions in I word or
in I sentence : 1x7=7

O ] 2R Tew @bl X7 q7 @b 9T ferd
(@) What is the meaning of ‘Kulturkampf’?

TR Y 2

(b) Who was the last Tsar of Russia?
FE[ e g1 (SE0) @F ke 2

(c) Which treaty was signed by Russia and
Turkey on 3rd March, 1878?
© A6, Svay TS Ffem WF T9FI TS
T B Jrefie CafeE 2

(d) Whose assassination on 28 June, 1914
sparked the First World War?
5538 B b G OIRTY Eoe IR z@FIER
A2 fPya ol 909
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(e)

(9)

2. Answer the following in brief :

(2)

The German Army was limited to how
many men by the Treaty of Versailles?

SERe e WP @ CREIRM R
CTR ere e [ 39 W2

Why America did not want to join the
League of Nations?

e 1 wifomTs @smm {9 [&oar
=1fee 2

When was the Locarno Pact signed?

@’ e cafon qrefe tafee 2

e arpry=a o9 Ted for

(@)

(b)

()

(@)

A9/817

What do you understand by the ‘War
Scare of 187577

IR ] Svae’ e [ gm e

What does Russification mean?

Ffefrceoas 51 $2

Who were known as the ‘Brownshirts’

and the Blackshirts™

IS F ‘@R’ A G AARPS wifke 2
Why was the Battle of Great Britain
important?

ci5 B 7w &9 eFgrd wifze 2

{ Continued )

2%4=8

(3)

3. Write short notes on (any three) : 5x3=15

5y ot foran (R comeen fefeio) -

(a) Adolphe Thiers
wreere fEp

(b) Bismarck
faoraré

(c) Revolution of 1905
sdoed Red

(d) Kellogg-Briand Pact
F1el-A1CE pfe

(e) Pearl Harbor
offef 2

4. Answer any three of the following questions :
10x3=30
fafiRe e R e fefivr Teq fon

(@) What were the problems confronting the
Third French Republic and how did it
solve them?

oo T eaR TR TR 2
feE W @3 TPIPHRE  (FEALRT AU
3fafee 2

(b) Describe the role played by Lenin in the
Bolsheviks Revolution of Russia.

R TEcHSe Rk @Fe SR e 39
901
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(c) How far the mutual rivalries of the
colonial powers responsible for the
outbreak of the First World War?

el ez T Kgre R eiey
fesgas csfb toaR IR 2

(d) Analyse the achievements and failure of
the League of Nations. Give reasons for
its failure.

G Foarfel AF Speprior [RoE < |
GISHAEA SFoIRS[ T4 & et 2

(e) Do you agree that the Versailles Treaty
sowed the seeds of the Second World

War?
w1612 pfeca Bl fwgas e e R 9=
SERCEIC),

(f)  What role was played by Japan in the

Second World War? What was its
outcome?

f78n frrme wam o s tafe? =W
wea i CafeE
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